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(S} 1. Complete the following DEFinitior: The vectors Yy, ..., Vo are linearty =
independent i and only if
2. Are the vectors (1,-1,2 0}, (3.-1,8.6), and (2,-3,4,~3) linearly independent?
w Justify.
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3. Find a basis for the solution space of the Tollowing system of homegeneous
squaticns. The solution space is an . dimensional subspace of .w..,,.};;_f § =
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£l 4. Glve a basis for the subspace of matrices in My, of the form: 3
FI r -
' [ 2 O ! , where a and b are any real numbers,
a E
what is the dimension of this subspae&_’%wr:at is the dimension of Mgz”i
} a=r Yoo . 7
; L ,gf,. é,‘;i : i
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(-7) 5. Prove: If vy, ..., v, are linearly dependent, then at least one of the v, can be
written as a linear combination of the others, f il
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